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Attempt any four questions from the following.

What is mean by Linear Programming? State assumptions and uses of L.P.

Solve the following Linear Programming problem by graphical method.
Maximize Z = 200x + 300y,
subjectto: 5x + 2y <180, 3x + 3y< 135, y<2x,x,y20

Solve the following tfénspo'rtation problem by North-west corner method (NWCM)

P Q R S Demand
A 6 4 1 5 14
B 6 9 2 6 17
C 4 3 6 2 5
Supply 6 10 16 4 36

Solve the following transportation problem by Vogel’s Approximation Method
{(VAM).

1 I I IV | Demand
X 20 | 22 1 17 4 120
Y | 24 37 9 7 70
Z 32 37 20 15 50
Supply | 60 | 40 | 30 | 110 240

Write mathematical model of assignment problem.
Solve the following assignment problem for minimum cost.

P Q R S

4 40 51 67
57 42 63 58
49 52 48 61

g Ao = >

41 45 60 55
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| Maintenance

The price of a machine is Rs. 9000. It’s maintenance expense is Rs. 200 for the first
year and then it increases by Rs. 2000 per year. At what time is it profitable to -
replace the machine.

The price of a machine is “Rs. 16100. and its scrap value is onty Rs. 1000, The

maintenance cost as follows. ,When should the machine be replaced ?

Yew [ 1 (2] 3[4 567 ]38}
200 | 350 | 500 | 1000 | 1400 | 2700 | 4000 | 5000 |-

Cost

Obtain the equatxon ofa line passing through the pomts Ax1, y1) and B(x,, yz)
’Fmd x if the dlstance between A(x ~~4)and B(- 8, 2)is 10.

Obtain the equatm_n of a line having slope m and ma.lnng intercept ‘C’ on y- axis.

Find the equatlon of a line passmg through the pomt (3, 7) and parallel to the line
3x+ 6y 5=0. o

State the rules of d:ﬁ'erentlatlon .

Find £, (1) y= (2x+3><x2 T+ S) @ v '=—-~’-’

Find maxunum and minimum values of the foilowmg functlon
y= x +6x% - 15% + 7 -

_ 22 +5x+8

Find 2, 1(1)' y= 1_0_g7(3x2 -2x+5) () y=
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P Q R S
2 4 51 6
Is1 42 6 58
las 2 8 6|
445 60 55

. I 1l 11 SO IR A VAR 11
X [ 20 [ 22 | 17 4 | 120
Y | 24 371 [ 9 | 1 70
7 | 32 | 37 ] 20 | 15 50
| gaqa?t 60 '40'_ 30 | 110 | 240
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